MATHS

BOOKS - S CHAND MATHS (ENGLISH)

POINTS AND THEIR COORDINATES

1. Locate the points

(i) (2,3, 4)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NQQHTQ0tb8U0

Gi)(—2, —2,.3)

(734) (2, — 2, — 3) on coordinate axis

° Watch Video Solution

2. Prove by using the distance formula that the
points
A(1,2,3),B(—1, —1, —1) and C(3,5,7)

are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_NQQHTQ0tb8U0
https://dl.doubtnut.com/l/_vYFobNhVPD6A

3. Show that the points
A(0,1,2), B(2, —1,3)andC(1, — 3,1) are

vertices of an isosceles right-angled triangle.

o Watch Video Solution

4. Find the coordinates of the point
equidistant from the four points A(0,0,0) , B

(a,0,0), C(0,b,0) and D(0,0,c) .

o Watch Video Solution



https://dl.doubtnut.com/l/_Bu7ZmR1yjkzh
https://dl.doubtnut.com/l/_F1EUUtSmIAyG
https://dl.doubtnut.com/l/_6HB5p8IbLmR3

5. f A and B be the points
(3,4,5) and ( — 1,3, — 7) respectively, find

the locus of P such that PA% + PB? — k2.

o Watch Video Solution

6. What loci do the equation represent in
space?

z=20

o Watch Video Solution



https://dl.doubtnut.com/l/_6HB5p8IbLmR3
https://dl.doubtnut.com/l/_vXOuS4BxY5vz
https://dl.doubtnut.com/l/_LILVDV4l2VRC

7. What loci do the equation rpresent in
space?

y=0,2=0

o Watch Video Solution

8. Find the coordinates of a point which
divides internally the points (1, 3, 7), (6, 3, 2)

in the ratio 2: 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_LILVDV4l2VRC
https://dl.doubtnut.com/l/_tDcjTmn6hWQk

9. Find the ratio in which the xy-plane divides
the join of (— 3,4, —8) and (5, — 6, 4).
Also obtain the point of intersection of this

line with the plane.

° Watch Video Solution

10. Given that
P(3,2, —4),Q(5,4, — 6), R(9,8 — 10) are

collinear, find the ratio in which Q divides PR.

° Watch Video Solution



https://dl.doubtnut.com/l/_F3QHQTiodSvr
https://dl.doubtnut.com/l/_XxJ4QHoeR0hT

1. A(3,2,0),B(53,2)C(—9,6, —3) are
three points forming a triangle. AD, the
bisector of angle BAC meets BC in D. Find the

coordinates of the point D.

o Watch Video Solution

12. Find the coordinates of the centroid of the

triangle whose vertices are (z1,y1, 21),

(232, Y2, z2)and (333, Y3, 23)‘

o Watch Video Solution



https://dl.doubtnut.com/l/_XxJ4QHoeR0hT
https://dl.doubtnut.com/l/_iGwP5zVMrtqe
https://dl.doubtnut.com/l/_U5I166hWk34y

13. The midpoints of the sides of a trianlge are

323 133 d255 Find
7757 757 an 7575 In

its vertices.

° Watch Video Solution

14. Using section formula, prove that the three
points
A(—-2,3,5),B(1,2,3) and C(7,0, — 1)

are collinear.



https://dl.doubtnut.com/l/_U5I166hWk34y
https://dl.doubtnut.com/l/_noJr1dnPDIbA
https://dl.doubtnut.com/l/_O0ttI1daUGbi

I o Watch Video Solution

15. Show that the point (1, 2, 3) is common to
the lines which join A(4,8,12) to

B(2,4,6), and c(3,5,4) to D(5, 8, 5).

o Watch Video Solution

Exercise 26 A


https://dl.doubtnut.com/l/_O0ttI1daUGbi
https://dl.doubtnut.com/l/_Pi66YriCbsVO

1. Find the distance from the origin to each of
the point:

(2,2,3)

o Watch Video Solution

2.Find the distance from the origin to each of
the point:

(4, — 1,2)

o Watch Video Solution



https://dl.doubtnut.com/l/_Pejc8EE6Y7xE
https://dl.doubtnut.com/l/_bibVQbbKngcu
https://dl.doubtnut.com/l/_FLVMfiJ9lSqn

3. Find the distance from the origin to each of
the point:

(0,4, —4)

o Watch Video Solution

4. Find the distance from the origin to each of
the point:

(—4, —3, —2)

o Watch Video Solution



https://dl.doubtnut.com/l/_FLVMfiJ9lSqn
https://dl.doubtnut.com/l/_wUmoemsv4a05
https://dl.doubtnut.com/l/_A6lWFkk5nJzr

5. Find the distance between each of pair of
point:

(2,5,3 and ( — 3,2,1),

o Watch Video Solution

6. Find the distance between each of pair of
point:

(0,3,0) and (6,0, 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_A6lWFkk5nJzr
https://dl.doubtnut.com/l/_NjCqLPrXR7dz

7. Find the distance between each of pair of
point:

(-4,-2,0) and (3,3,5)

o Watch Video Solution

8. Show that the triangle with vetices
(6, 10, 10), (1,0, — 5), (6, — 10, 0) is a ritht-

abngled triangle, and find its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_rE5NwngU0ghl
https://dl.doubtnut.com/l/_2rhggzhAqKiL
https://dl.doubtnut.com/l/_xdcqoRf4lDD8

9. Show that the triangle with vertices
A(3,5, —4),B(—-1,1,2)C(—5, — 5, —2)

is isosceles.

o Watch Video Solution

10. Show that
(4,2,4), (10,2, —2) and (2,0, — 4) are the

vertices of an equilateral triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_xdcqoRf4lDD8
https://dl.doubtnut.com/l/_VM4OLbtDtBX3
https://dl.doubtnut.com/l/_XyB9TPBsHaz4

11. Show that the point A (1,-1,3), B ( 2,-4,5) and

C ( 5,-13,11) are collinear.

° Watch Video Solution

12. Derive the equation of the locur of a point
equidistant from the points

(1, —2,3) and ( — 3,4, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_XyB9TPBsHaz4
https://dl.doubtnut.com/l/_ofAJJ3z1kTq5

13. Derive the equation of the locus of a point
twice as far from (—2,3,4) as from

(3, —1, — 2).

o Watch Video Solution

14. Find the equation of the locus of a point
whose distance from the y-axis is equal to its

distance from (2,1, — 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_hOZP5QgLv5zI
https://dl.doubtnut.com/l/_qstIdDybaYXm
https://dl.doubtnut.com/l/_MPyRsRt3mR7D

15. Find the equation of the locus of point
whose distance from the xy-plane is equal to

its distance from the point( — 1,2, — 3).

o Watch Video Solution

16. A point moves so that the differerence of
the squares of its distance from the x-axis and
the y-axis is constant. Find the equation of its

locus.

° Watch Video Solution



https://dl.doubtnut.com/l/_MPyRsRt3mR7D
https://dl.doubtnut.com/l/_0kECcPm9xNd0

17. Find the equation of the locus of a point
whose distanace from the z-axis is equal to its

distance from the xy-plane.

o Watch Video Solution

Exercise 26 B

1. Find the coordinates of the points which

divide the join of the points (2-1, 3) and (4,3,1)

in the ratio 3:4 internally.

| e |


https://dl.doubtnut.com/l/_z6GsajdLJupU
https://dl.doubtnut.com/l/_kBMvcn1ClTBf

& Wwatch Video Solution I

2. Find the coordinates of the points which
divide the line joining the points (2,-4,3),

(-4,5,-6) in the ratio (i) 1: 4 (ii) 2:1.

° Watch Video Solution

3. Find the ratio in which the line joining the
points (2, 4, 5), (3,5,4) is divided by the yz-

plane.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_kBMvcn1ClTBf
https://dl.doubtnut.com/l/_xwgW10cXCpKH
https://dl.doubtnut.com/l/_hj7HX6D6tyjW

4.The three points A (0,0,0), B (2,3, 3), C(-2,3,-3)
are collinear. Find in what ratio each point

divides the segment joining the other two.

° Watch Video Solution

5. Find the coordinates of the points which

trisect AB given that A (2, 1,-3) and B (5,.- 8,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_hj7HX6D6tyjW
https://dl.doubtnut.com/l/_Xsi1IbWxgcQD
https://dl.doubtnut.com/l/_joEjTbPqfHrT
https://dl.doubtnut.com/l/_p0TPhsMMbowk

6. Find the coordinates of the point which is

three-fifths of the way from (3, 4, 5) to (-2,-1,0).

° Watch Video Solution

7. Show that the point (1, 2, 3) is common to
the lines which join A(4,8,12) to

B(2,4,6), and c(3,5,4) to D(5, 8, 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_p0TPhsMMbowk
https://dl.doubtnut.com/l/_et2r7I26TNm6

8. Find the lengths of the medians of the

triangle whose vertices are

A(2, —3,1),B(—6,5,3),C(8,7, —1).

o Watch Video Solution

9. Find the point of intersection of the
medians of the triangle with vertices (-1, -3, 4),

(4,-2,7), (2, 3, -8).

o Watch Video Solution



https://dl.doubtnut.com/l/_JdxyRq60pkaq
https://dl.doubtnut.com/l/_BUWRgddQfN5r
https://dl.doubtnut.com/l/_oCNtv2o5GOFU

10. Find the ratio in which the join of A (2,1,5)
and B (3,4,3) is divided by the plane 2x + 2y-
2z=1. Also, find the coordinates of the point of

division,

° Watch Video Solution

11. The mid-points of the sides of a triangle are

(1, 5,-1),(0,4,-2) and (2, 3, 4). Find its vertices.

o Watch Video Solution



https://dl.doubtnut.com/l/_oCNtv2o5GOFU
https://dl.doubtnut.com/l/_p1XCSAIR2FTI
https://dl.doubtnut.com/l/_Ua05FP7xyRDO

12. Three vertices of a parallelogram ABCD are
A (3,1,2), B (1, 2, 4) and C(-1,1,2). Find the

coordinates of the fourth vertex D.

o Watch Video Solution

13. What is the locus of a point for which
MHx=0,y=0

(iy=0,z=0

(i) z2=0,z =0

(ivie =a,y=2>


https://dl.doubtnut.com/l/_Ua05FP7xyRDO
https://dl.doubtnut.com/l/_7j9B0V8q1Ul0

(v)z=c,x =a?

° Watch Video Solution

14. What is the jocus of a point a point for

which

)z =0,y=0
(iy=0,z=0
(im)z=0,z =0

(ivie =a,y =a


https://dl.doubtnut.com/l/_7j9B0V8q1Ul0
https://dl.doubtnut.com/l/_uFXirODcRv2E

(vi)z =c,x = a?

° Watch Video Solution

Chepter Test

1. Find the point on y-axis which is equidistant

from the points (3, 1, 2) and (5, 5, 3),

o Watch Video Solution



https://dl.doubtnut.com/l/_uFXirODcRv2E
https://dl.doubtnut.com/l/_JxCKbuTqDAe0

2. Show that the points
(a, b, c)(b,c,a) and (c, a, b) are the vertices

of an equilateral triangle.

o Watch Video Solution

3. Find out whether the points
(0,7,10),( — 1,6,6) and ( — 4,9, 6) are the

vertices of a right angled triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_IY5HVb5X6Xv3
https://dl.doubtnut.com/l/_2UWk06PJ5li6
https://dl.doubtnut.com/l/_YeNZujRX2sao

4. Show that the points
A(—2,3,5),B(1,2,3) and C(7,0, — 1)

are collinear.

o Watch Video Solution

5. Find the lengths of the medians of the

triangle A(0, 0, 6), B(0, 4,0) and C(6, 0, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_YeNZujRX2sao
https://dl.doubtnut.com/l/_CrpXmYDtQIlp

6. Using section formula, show that the points
1
(2, —3,4),(—1,2,1) and (O, 3 2) are

collinear.

° Watch Video Solution

7. Find the ratio in which the y-z plane divides
the line segment formed by joining the point

(—2,4,7) and (3, — 5, 8).

° Watch Video Solution



https://dl.doubtnut.com/l/_O39lnQJHEnCY
https://dl.doubtnut.com/l/_ILTSD0oOCeMI




